



File Number

R-2010-0146

Title

Resolution

### City of West Allis Matter Summary

Status

Introduced

7525 W. Greenfield Ave. West Allis, WI 53214

		Resolution to apprincluding the crack repair, sanitary sev S. 84 St. to W. Ok	king and seating wer relay, storm	of the pavemen sewer relay and	t with miscell utility adjustr	aneous driveway nents in West Be	and sidewalk loit Road from
		Introduced: 6/15/20	010	Cor	ntrolling Body	: Public Works Cor	nmittee
				Spo	onsor(s): Publi	c Works Committee	e
COMMITTEE	RECOMM	ENDATION _	Ade	of			
	MOVER	SECONDER		AYE	NO	PRESENT	EXCUSED
ACTION .			Barczak	1			
DATE:		-	Czaplewski				
Click.			Kopplin				
11/20/0		-	Lajsic				
			Narlock Reinke				
			Roadt	1			
	-		Sengstock				
			Vitale	1			
			Weigel				
			TOTAL	_5			
SIGNATURE O	F COMMIT	entl)					
Chair O		Vice-	Chair		Memb	er	
COMMON CO	UNCIL AC	TION	ADO	PT			
	MOVER	SECONDER		AYE	NO	PRESENT	EXCUSED
ACTION			Barczak	/			
DATE:			Czaplewski				
IUN 15 2010			Kopplin	V			
ION TO TOIG			Lajsic	V			
			Narlock Reinke	V			
			Roadt	~			
			Sengstock	V			
			Vitale	L			
			Weigel				
			TOTAL	10			



### **City of West Allis**

7525 W. Greenfield Ave. West Allis, WI 53214

### Resolution

File Number: R-2010-0146

**Final Action:** 

JUN 15 2010

Sponsor(s):

Public Works Committee

Resolution to approve bid of Globe Contractors, Inc. for asphalt resurfacing of the pavement including the cracking and seating of the pavement with miscellaneous driveway and sidewalk repair, sanitary sewer relay, storm sewer relay and utility adjustments in West Beloit Road from S. 84 St. to W. Oklahoma Avenue in the City of West Allis, in the amount of \$1,148,253.12.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid Globe Contractors, Inc. for 2010 Project No. 6 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Globe Contractors, Inc. for 2010 Project No. 6 for:

asphalt resurfacing of the pavement including the cracking and seating of the pavement with miscellaneous driveway and sidewalk repair, sanitary sewer relay, storm sewer relay and utility adjustments in:

West Beloit Road from S. 84th Street to W. Oklahoma Avenue

(PLAN FILE NOS. SP-1155, M-10, U-2510, S-1419, S-1420, S-1421, S-1422)

for the sum of One Million One Hundred Forty-eight Thousand Two Hundred Fifty-three and 12/100 dollars (\$1,148,253.12)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds, Storm Water Management Funds, Water Utility Funds, Bond Funds, Funds from Special Assessments and funding from the Wisconsin Department of Transportation Municipal Street Improvement Program.

Resolution No. R-2010-0146

ADOPTED

JUN 15 2010

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

6/21/10

Dan Devine, Mayor

# STREET CONSTRUCTION, STORM SEWER RELAY, SANITARY SEWER RELAY & UTILITY ADJUSTMENTS

West Beloit Road from S. 84th Street to West Oklahoma Avenue

				Bid B	Bid Bond 5%	Bid Bo	Bid Bond 5%	Bid B	Bid Bond 5%	Bid B	Bid Bond 5%	Bid Bo	Bid Bond 5%
· '												Willkomm E	Willkomm Excavating &
				Globe Con	Globe Contractors, Inc.	Payne & Dolan,	Dolan, Inc.	Rawson Col	Rawson Contractors, Inc.	Super Exc	Super Excavators, Inc.	Gradir	Grading, Inc.
٠,				N50 W2307	N50 W23076 Betker Rd.	N3 W23650	N3 W23650 Badinger Rd.	P.O. I	P.O. Box 566	N59 W14601	N59 W14601 Bobolink Ave.	17108 Cou	17108 County Line Rd.
681				Pewaukee	Pewaukee, WI 53072	Waukesha	Waukesha, WI 53188	Sussex,	Sussex, WI 53089	Menomonee F	Menomonee Falls, WI 53051	Union Grove	Union Grove, WI 53182
	ITEM	ַ	UNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
_	Borrow Excavation	15	Cu. Yds.	\$25.00	375.00	\$25.00	375.00	\$35.00	525.00	\$25.00	375.00	\$25.50	382.50
2	Sodding	260	Sq. Yds.	\$6.00	1,560.00	\$15.00	3,900.00	\$15.00	3,900.00	\$15.00	3,900.00	\$15.30	3,978.00
ω	Asphalt/Concrete Sawing	2,330	Lin. Ft.	\$1.35	3,145.50	\$1.35	3,145.50	\$2.00	4,660.00	\$1.70	3,961.00	\$1.53	3,564.90
4	Walk & Drive Removal	3,600	Sq. Ft.	\$0.83	2,988.00	\$0.83	2,988.00	\$0.90	3,240.00	\$0.85	3,060.00	\$0.61	2,196.00
5	Curb Removal	450	Lin. Ft.	\$5.92	2,664.00	\$5.92	2,664.00	\$3.75	1,687.50	\$6.00	2,700.00	\$5.10	2,295.00
6	Pavement Removal	510	Sq. Yds.	\$5.36	2,733.60	\$5.36	2,733.60	\$5.35	2,728.50	\$5.40	2,754.00	\$5.10	2,601.00
7	Cracking & Seating Concrete Pavement	12,960	Sq. Yds.	\$0.96	12,441.60	\$0.96	12,441.60	\$1.00	12,960.00	\$1.00	12,960.00	\$0.98	12,700.80
œ	5" Concrete Sidewalk	2,710	Sq. Ft.	\$3.90	10,569.00	\$3.90	10,569.00	\$4.10	11,111.00	\$4.00	10,840.00	\$3.57	9,674.70
9	7" Concrete Walk & Drive	450	Sq. Ft.	\$4.23	1,903.50	\$4.23	1,903.50	\$4.35	1,957.50	\$4.25	1,912.50	\$4.08	1,836.00
10	) H.E.S. 7" Concrete Walk & Drive	440	Sq. Ft.	\$4.85	2,134.00	\$4.85	2,134.00	\$4.85	2,134.00	\$4.85	2,134.00	\$4.59	2,019.60
11	31" Concrete Curb and Gutter	340	Lin. Ft.	\$23.00	7,820.00	\$23.00	7,820.00	\$30.00	10,200.00	\$23.00	7,820.00	\$22.44	7,629.60
12	H.E.S. 31" Concrete Curb and Gutter	90	Lin. Ft.	\$29.00	2,610.00	\$29.00	2,610.00	\$32.00	2,880.00	\$29.00	2,610.00	\$30.60	2,754.00
13	9" Concrete Pavement	180	Sq. Yds.	\$36.84	6,631.20	\$36.84	6,631.20	\$35.00	6,300.00	\$37.00	6,660.00	\$36.72	6,609.60
14	H.E.S. 9" Concrete Pavement	200	Sq. Yds.	\$44.00	8,800.00	\$44.00	8,800.00	\$39.00	7,800.00	\$44.00	8,800.00	\$40.80	8,160.00
15	8" Concrete Base	3,090	Sq. Yds.	\$28.00	86,520.00	\$28.00	86,520.00	\$32.00	98,880.00	\$28.00	86,520.00	\$33.66	104,009.40
16	H.E.S. 8" Concrete Base	260	Sq. Yds.	\$35.50	9,230.00	\$35.50	9,230.00	\$33.00	8,580.00	\$35.50	9,230.00	\$40.80	10,608.00
17	Curb Ramp Detectable Warning Field	48	Sq. Ft.	\$33.64	1,614.72	\$33.64	1,614.72	\$38.00	1,824.00	\$33.70	1,617.60	\$33.66	1,615.68
18	Base Preparation	17	Stations	\$490.00	8,183.00	\$500.00	8,350.00	\$490.00	8,183.00	\$490.00	8,183.00	\$499.80	8,346.66
19	Pavement Milling	12,960	Sq. Yds.	\$1.95	25,272.00	\$1.95	25,272.00	\$1.95	25,272.00	\$1.95	25,272.00	\$1.99	25,790.40
20	Pavement Ties	3,810	Each	\$5.75	21,907.50	\$5.75	21,907.50	\$7.00	26,670.00	\$5.75	21,907.50	\$5.10	19,431.00
21	Base Aggregate Dense, 1-1/4"	100	Tons	\$12.50	1,250.00	\$12.50	1,250.00	\$15.00	1,500.00	\$12.50	1,250.00	\$14.28	1,428.00
22	Tack Coat	1,472	Gallons	\$2.50	3,680.00	\$2.50	3,680.00	\$2.50	3,680.00	\$2.50	3,680.00	\$2.55	3,753.60

City of West Allis 2010 Project No. 6 Bid Opening - 6/10/10

# STREET CONSTRUCTION, STORM SEWER RELAY, SANITARY SEWER RELAY & UTILITY ADJUSTMENTS

West Beloit Road from S. 84th Street to West Oklahoma Avenue

		42 8	41 6	40 s	39 3	38 8	37 8	36 1	35 1	34 1	33 1	32 F	31 P	30 F	29 F	28 F	27 F	26 F	25 F	24 A	23 +	Γ <del></del> -	į.				
Tomporary of Carmary Commonstic	Temporary 8" Sanitary Connection	8" Sanitary Sewer Bulkheads	6" Sanitary Sewer Riser (10)	Sanitary Reconnects	3'-6" Dia. Sanitary Manhole (17)	8" Dia. Sanitary Sewer	8" Dia. Sanitary Sewer Relay	10" Dia. Sanitary Sewer Relay 1	12" Dia. Sanitary Sewer	12" Dia. Sanitary Sewer Relay	15" Dia. Sanitary Sewer Relay	Removing Pavement Markings	Pavement Marking, Curb, Epoxy, (Yellow	Pavement Marking, Island Nose, Epoxy,	Pavement Marking, Symbols, Epoxy, Arrı	Pavement Marking, Channelizing Line, E	Pavement Marking, Lane Line, Epoxy, 4-	Pavement Marking, Stop Bar, Epoxy 18-i	Pavement Marking, Crosswalk, Epoxy 6-i	Asphaltic Surface Patching	HMA Pavement (Type E-1)	ITEM					
٠.		6	33 V	41	194 V	40 L	21 L		52 L	491 L	622 L	110 L	ا 99	6	ω	182 L	3,520 [	73 [	266 [	250	3,277	STINU					
	S E T	Units	Vert. Ft.	Units	Vert. Ft.	Lin. Ft.	Lin. Ft.	Lin. Ft.	Lin. Ft.	Lin. Ft.	Lin. Ft.	Lin. Ft.	Lin. Ft.	Each	Each	Lin. Ft.	Lin. Ft.	Lin. Ft.	Lin. Ft.	Tons	Tons	S.					
\$1,000.00	\$300.00	\$200.00	\$70.00	\$500.00	\$150.00	\$140.00	\$140.00	\$115.00	\$120.00	\$120.00	\$140.00	\$1.50	\$6.00	\$140.00	\$275.00	\$3.00	\$0.10	\$10.00	\$7.50	\$118.00	\$62.50	PRICE	Pewauke	N50 W230	Globe Cor		Bid E
1,000.00	300 00	1,200.00	2,310.00	20,500.00	29,100.00	5,600.00	2,940.00	203,205.00	6,240.00	58,920.00	87,080.00	165.00	396.00	840.00	825.00	546.00	352.00	730.00	1,995.00	29,500.00	204,812.50	TOTAL	Pewaukee, WI 53072	N50 W23076 Betker Rd.	Globe Contractors, Inc.		Bid Bond 5%
\$1,190.00	\$725.00	\$100.00	\$70.00	\$70.00	\$195.00	\$140.00	\$137.00	\$109.00	\$136.00	\$116.00	\$121.00	\$1.50	\$6.00	\$140.00	\$275.00	\$3.00	\$0.10	\$10.00	\$7.50	\$121.00	\$65.55	PRICE	Waukesha	N3 W23650	Payne &		Bid B
1,190.00	725 00	600.00	2,310.00	2,870.00	37,830.00	5,600.00	2,877.00	192,603.00	7,072.00	56,956.00	75,262.00	165.00	396.00	840.00	825.00	546.00	352.00	730.00	1,995.00	30,250.00	214,807.35	TOTAL	Waukesha, WI 53188	N3 W23650 Badinger Rd.	Payne & Dolan, Inc.		Bid Bond 5%
\$1,500.00	\$1 350 00	\$400.00	\$90.00	\$60.00	\$180.00	\$125.00	\$205.00	\$127.00	\$155.00	\$145.00	\$200.00	\$1.50	\$6.00	\$140.00	\$275.00	\$3.00	\$0.10	\$10.00	\$7.50	\$118.00	\$62.50	PRICE	Sussex,	P.O. E	Rawson Cor		Bid Bo
1,500.00	1 350 00	2,400.00	2,970.00	2,460.00	34,920.00	5,000.00	4,305.00	224,409.00	8,060.00	71,195.00	124,400.00	165.00	396.00	840.00	825.00	546.00	352.00	730.00	1,995.00	29,500.00	204,812.50	TOTAL	Sussex, WI 53089	P.O. Box 566	Rawson Contractors, Inc.		Bid Bond 5%
\$300.00	\$1,000,00	\$100.00	\$30.00	\$100.00	\$155.00	\$200.00	\$600.00	\$142.00	\$250.00	\$140.00	\$155.00	\$1.50	\$6.00	\$140.00	\$275.00	\$3.00	\$0.10	\$10.00	\$7.50	\$118.00	\$62.50	PRICE	Menomonee F	N59 W14601	Super Exc		Bid B
300.00	1 000 00	600.00	990.00	4,100.00	30,070.00	8,000.00	12,600.00	250,914.00	13,000.00	68,740.00	96,410.00	165.00	396.00	840.00	825.00	546.00	352.00	730.00	1,995.00	29,500.00	204,812.50	TOTAL	Menomonee Falls, WI 53051	N59 W14601 Bobolink Ave.	Super Excavators, Inc.		Bid Bond 5%
\$525.00	\$329 00	\$190.00	\$106.00	\$250.00	\$375.00	\$227.00	\$400.00	\$133.00	\$200.00	\$152.00	\$160.00	\$1.53	\$7.02	\$142.80	\$280.50	\$3.06	\$0.12	\$10.20	\$7.65	\$120.36	\$63.75	PRICE	Union Grov	17108 Cou	Gradii	Willkomm E	Bid Bo
525.00	329 00	1,140.00	3,498.00	10,250.00	72,750.00	9,080.00	8,400.00	235,011.00	10,400.00	74,632.00	99,520.00	168.30	463.32	856.80	841.50	556.92	422.40	744.60	2,034.90	30,090.00	208,908.75	TOTAL	Union Grove, WI 53182	17108 County Line Rd.	Grading, Inc.	Willkomm Excavating &	Bid Bond 5%

City of West Allis 2010 Project No. 6 Bid Opening - 6/10/10

# STREET CONSTRUCTION, STORM SEWER RELAY, SANITARY SEWER RELAY & UTILITY ADJUSTMENTS West Beloit Road from S. 84th Street to West Oklahoma Avenue

						. 1												4 -4	~	-		
500 •	60	59 1	58	57 /	56 /	55 /	54	53	52	51	50	49	48	47	46	45						
Totals	Traffic Control	Manhole Protection Barriers	Inlet Protection Barriers	Adjust Water Valve Boxes	Adjust Sanitary Manhole Frames	Adjust Storm Manhole Frames	Adjust Catch Basin Frames	12" Storm Reconnection	Catch Basin Replacements	3'-6" Dia. Storm Manhole (11)	5'-0" Dia. Storm Manhole (8)	36" Dia. Storm Sewer Relay	Hydrant Replacements	Slurry Backfill	Sanitary Manhole Abandonment	Install Internal Sanitary Manhole Seals	ITEM					
	_	36	42	23	19	4	22	_	10	23	78	916	9	320	<u>_</u>	18	Ç					
	Lump Sum	Units	Units	Each	Each	Each	Each	Ųnits	Units	Vert. Ft.	Vert. Ft.	Lin. Ft.	Units	Cu. Yds.	Unit	Units	UNITS					
	Lump Sun \$20,000.00	\$50.00	\$50.00	\$250.00	\$400.00	\$400.00	\$400.00	\$1,000.00	\$1,900.00	\$550.00	\$200.00	\$144.00	\$1,600.00	\$48.00	\$500.00	\$200.00	PRICE	Pewaukee	N50 W2307	Globe Con		Bid B
\$1,148,253.12	20,000.00	1,800.00	2,100.00	5,750.00	7,600.00	5,600.00	8,800.00	1,000.00	19,000.00	12,650.00	15,600.00	131,904.00	14,400.00	15,360.00	500.00	3,600.00	TOTAL	Pewaukee, WI 53072	N50 W23076 Betker Rd.	Globe Contractors, Inc.		Bid Bond 5%
	\$37,800.00	\$90.00	\$59.00	\$75.00	\$400.00	\$400.00	\$350.00	\$1,600.00	\$2,340.00	\$590.00	\$265.00	\$136.00	\$1,880.00	\$48.50	\$600.00	\$120.00	PRICE	Waukesha	N3 W23650	Payne &		Bid B
\$1,148,499.97	37,800.00	3,240.00	2,478.00	1,725.00	7,600.00	5,600.00	7,700.00	1,600:00	23,400.00	13,570.00	20,670.00	124,576.00	16,920.00	15,520.00	600.00	2,160.00	TOTAL	Waukesha, WI 53188	N3 W23650 Badinger Rd.	Payne & Dolan, Inc.		Bid Bond 5%
	\$25,000.00	\$59.00	\$59.00	\$150.00	\$150.00	\$200.00	\$200.00	\$450.00	\$2,200.00	\$285.00	\$235.00	\$152.00	\$1,600.00	\$60.00	\$400.00	\$150.00	PRICE	Sussex,	P.0. E	Rawson Cor		Bid B
\$1,236,172.00	25,000.00	2,124.00	2,478.00	3,450.00	2,850.00	2,800.00	4,400.00	450.00	22,000.00	6,555.00	18,330.00	139,232.00	14,400.00	19,200.00	400.00	2,700.00	TOTAL	Sussex, WI 53089	P.O. Box 566	Rawson Contractors, Inc.		Bid Bond 5%
	\$25,000.00	\$65.00	\$60.00	\$200.00	\$555.00	\$555.00	\$555.00	\$100.00	\$2,000.00	\$535.00	\$205.00	\$145.00	\$2,050.00	\$55.00	\$300.00	\$100.00	PRICE	Menomonee F	N59 W14601	Super Exc		Bid B
\$1,239,382.10	25,000.00	2,340.00	2,520.00	4,600.00	10,545.00	7,770.00	12,210.00	100.00	20,000.00	12,305.00	15,990.00	132,820.00	18,450.00	17,600.00	300.00	1,800.00	TOTAL	Menomonee Falls, WI 53051	N59 W14601 Bobolink Ave.	Super Excavators, Inc.		Bid Bond 5%
	\$30,000.00	\$50.00	\$60.18	\$354.00	\$330.00	\$263.00	\$468.00	\$1,266.00	\$2,277.00	\$296.00	\$366.00	\$134.00	\$1,300.00	\$45.00	\$500.00	\$155.00	PRICE		17108 Cou	Gradir	Willkomm E	Bid Bo
\$1,286,250.49	30,000.00	1,800.00	2,527.56	8,142.00	6,270.00	3,682.00	10,296.00	1,266.00	22,770.00	6,808.00	28,548.00	122,744.00	11,700.00	14,400.00	500.00	2,790.00	TOTAL	Union Grove, WI 53182	17108 County Line Rd.	Grading, Inc.	Willkomm Excavating &	Bid Bond 5%